EARAROBREBRT —5 XN—ZXBISH—F 2021128228 (K) 210&&E2H

LY 2% 44 USR2% BRI
[xE€] 1%&:520,000H  23&:166,000 @  3#&:94,000H  43&:62,000H  5i3&:42,000H
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
LIt 134 -4-4- . - Bl (ZHE)
1 === it 2 W 1(3_4)4 4-4-4-3 | 40.7 2 (4530) (ﬁ;?_‘é‘g%
R:7ZROVIvT B:YRR RE B
> B2 | RFRAES 1:34.5 1-1-1-1 [ 41.2] — 3 448 | RORE (BEE)
2 6| PI9FY 55.0 (3/4) () |REXHE
RiSTU—=F4A4 B:NAD1—RA =LA BEXERS
s 2 | #IE8sE 1:35.1 6-7-6-4 | 41.1| — 4 404 | BHEDL (BEE)
37| 7| XAFWU—2 £52.0 3 ) | ) ZyyTR—Fev o2
RiAWTT—IN BAETFV2 FrIEAVRT7—L
By 1 — 4 2 | EHREA 1:35.3 2-2-2-2 |M1.9] - 6 469 | REBEXR (BEE)
41810 ¥ A/NO 55.0 (1172 () |BMERE
R:ZNO—E—k B:EALTREVA b MRt F—R - YRIXY - R
o= —r~ P AIEFEE :36. -3-3- . - BHES (BEE)
517l 8| ZI—RS5TY v 2 Py i 1(346)1 3-3-3-5 | 42.5 1 (43) FHES
RFPAINIPFF— B:TI—tLT o HER
< . A _Eahis :36. -9-9- . - Bt (BEE)
615]5 | vrTaoL—2 4 2 o 1 (38 3 9-9-9-7 |41.8 7 (3+939) szﬁ
RIXIVIRTAvIIAUTP— B:INE—O0-X B R
—_ BH— . _E_[C_, _ %/
7 4| RARIATT o2 %”5"‘ 1(73?:)3 7-5-5-6 | 42.4 8 12(1)? ﬁ?t@é (BEE)
R:O—=ILRYy T B:3VHDITY B —=
s NOEEES— : ~10-10- - BER (BEE)
gl1]1|74v—a%=F i 2 o 1.(3253.7 10-10-10-9 | 41.9 5 (4;127) o
R:IRTVFUY 8:NURTIL— N L3805
N _ =T 137, -8-8- . - BETIE—A (BEE)
9 ARz NS P AV i 2 Z59.0 (11 317/3 8868 |46 ? fff; LZEEL
Rib—EVRIURY B:IVEIL7—F 01145215
. s BALEE :37. -6-7- . - FORE (BEHE)
10l8l 9| 1 7FADY 4 2 Asz{.o 1(337)6 5-6-7-10 | 43.3 10 (4+35(; e
R:TJUA—=Y B:R—FT4—RRZXN kike]
@ 11— —BERIEI
13—7F+— 6,10,8,2,9,7.4,3,5.1
20—F— 6,10,8,2,4,9,7,3,5,1
30—7F— 6,10,8,2,4,7,9,3,5,1
4A0—F— 6,10,2,7,8,4,5,3,1,9
0 ILRE
BB 2 470 JA R 2-6 410M & 2-6 4,980 3ER 2-6-7 10,060/
B B 2 110 2-7 640/ o 18 2-6 2,700H 3Es 2-6-7 34,810MH
6 2104 6-7 1,910 oS- 1 2-6 6,050
7 2004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




